
ANSWERS CHAPTER 12

THINK IT OVER

think it over

TIO 12.1: One sample does not influence the other.

TIO 12.2: Because we are looking at ‘equal to’ and ‘not equal to’.

TIO 12.3:
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TIO 12.4: There is no difference between incomes. The investigation therefore is pointless.

TIO 12.5: You would get positive values.

TIO 12.6: No answer required.

TIO 12.7: p
1
 says that 9% of doughnuts from factory 1 are probably bad and p

2
 says that 7.5% from 

factory 2 are probably bad based on the samples taken. The point estimate is the value we use to 

represent the difference between a range of samples, if we had taken lots of different samples. It is the 

value we guess will be the difference between the means of lots of samples.

TIO 12.8: Is the quality of the doughnuts in each factory the same? We can be 95% confident that if 

we took lots of samples from both factories, the difference between the means of the quality of the 

doughnuts would be within a range of ±5.4% of each other. If this tolerance is acceptable, then the 

factories are producing similar quality doughnuts.

EXERCISES

1.	 (a)  0 1 2 1 1 2: 0,   : 0H Hµ µ µ µ− ≥ − < .

	 (b)  −1.56.

	 (c)  87 df, between 0.1 and 0.05.

	 (d)  Reject null and conclude health service salaries are lower.

2.	 Margin of error = 39, upper limit = 284, lower limit = 205.
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3.	

Mean factory A =AVERAGE(A2:A125)

Pop SD 200

Mean factory B =AVERAGE(B2:B125)

Pop SD 100

Margin of error =1.96*(SQRT((E3^2/124)+(E7^2/124)))

Lower limit =(E2−E6)−E9

Upper limit =(E2−E6)+E9
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4.	

5.	
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